How fully Questions Notes Higher
How fully does Source D describe/explain…?
There must be a judgement about the extent to which the source provides a full description or explanation. At each stage tie your answer back to the question asked.
If you can say “ So what” you haven’t answered the question. 
When giving examples to back up a point, use specifically Scottish ones.
E.G. Lice were a big problem in the trenches during World War One as they caused extreme itching by living in the seams of the soldier’s tunics.
It is much better to say “Lice were a big problem in the trenches during World War One as they caused extreme itching by living in the pleats of the soldier’s kilts.
 It is also a good idea to repeat the judgement as you go through the question.
· Up to 3 marks can be given for the identification of points from the source that support the judgement. Points from the source must be interpreted rather than merely copied.
· Up to 7 marks can be given for points of significant omission, based on a candidates own knowledge, that support their judgement.
· A maximum of 2 marks will be awarded for answers containing no judgement.
Source A gives a fairly good description of worsening relations between Scotland and England. (judgement) The source mentions the lack of English assistance to Scotland during the Ill Years. (1 mark for interpreting the source) It also describes how due to England’s war with France in the 1690s, Scotland lost out on trade with the French. (1 mark for interpreting the source). The source also talks about how the Scots felt they had been deceived by the English government during the Darien Scheme. (1 mark for interpreting the source)
However, the source does not give a full description of worsening relations between Scotland and England. It fails to mention that the famine and starvation suffered by the Scots during the seven ill years were blamed on King William. (1 mark for a point of significant omission)
[bookmark: _GoBack]It fails to mention that the failure of the Darien Scheme with a cost of approximately £400,000 resulted in an increase of anti-English feeling in Scotland. (1 mark for a point of significant omission) Source A also fails to mention the tensions as a result of King William’s enforcement of the Navigation Acts which protected English trade but which excluded Scotland from trade with England’s colonies. (1 mark for a point of significant omission) The source also fails to mention how relations deteriorated further as a result of King William’s involvement in the Massacre of Glencoe in which thirty-eight MacDonalds were murdered. (1 mark for a point of significant omission) Also omitted from the source is the resentment felt by the Scottish Parliament over the Hanoverian succession in the English Act of Settlement of 1701. (1 mark for a point of significant omission) Lastly, Source A does not mention that many Jacobite supporters in the Highlands who were either Episcopalian or Catholic resented King William’s support of Presbyterianism. (1 mark for a point of significant omission)
Stems
Source….partially/partly describes/explains……
Source….gives a fairly full description/explanation of……………………………………………………………
Firstly the source says “……………………………………………………………… ”
Here the source shows/illustrates ……………………………………………………………….
Secondly the source says “……………………………………………………………….”
This means that……………………………………………..
The source also states that “…………………………………….”
and this links to the question because……………………
However the source does not give a full description/explanation of…………….l………………………………………………………………………………………..
If the source fully explained …………. we would have expected it to have included…………………. 
There are also points relevant to the question that are not mentioned in the source.
The source fails to mention that………………………………………….
It also should have included…….. ………………………………………
In addition, the source omits to mention that…………………………...
Finally it ought to have included………………………………………….

